PayTRUST Solutions™

There is a better way

Noble County Clerk

To pay your Noble County Traffic Citations, Judgement Paymenis,
and Court anes/Costs by Credlt or Debit Card on
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Www.nobleco.org ‘l

! and click on Pay Online Now
" Follow the instructions and click on the appropriate link to pay your
Traffic Citation,Count Fines/Costs, or Judgement Payment. |
You may also call 1-866-480-8552 and a live operator will help you.

ATTENTION: PayTRUST Solutions will add a convenience fee
- to the amount owed as shown in the tables below.

No limit on amount that can be processed. The convenience -
~ fee will be explained prior to your approval. ‘

We accept: Visa, MasterCard, Discover,
Diners Club, and JCB

$7,500.01 - $10,000.00 $375.00 | {§7.500.61 - $10,000.00

$10,000.01 > *NOTE* 3.75% 1$10,000.01 > *NOTE* 3
*NOTE* Convenience fees will be calculated in $5 000 mcrements for
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Internet Convenience ‘ Cali-in Convenience
Fee Rates Fee Rates
" Transaction Amount Fee Transaction Amount |Fee

$0.01 - $10.00 = [$0.95

$10.01 - $20.00 = |$1.45

$20.01 - $30.00 = |$1.95

$30.01 - $40.00 = |$2.45

$40.01 - - $50.00 = [$2.95

$50.01 - $100.00 = |$3.75 $0.01 - $100.00 =
$100.01 - $200.00 = [$7.50 - {$100.01 - $200.00 =
$200.01 - $300.00 = [$11.25 $200.01 - $300.00 =
$300.01 - $400.00 = [$15.00 $300.01 - $40000 =
$400.01 - $500.00 = |$18.75 §400.01 - $500.00 =
$500.01 - $600.00 = [$22.50 $500.01 - $600.00 = |
1$600.01 - $700.00 = [$26.25 $600.01 - $700.00 =
$700.01 - $800.00 = 1$30.00 | [$700.01 - $800.00 =
‘[3800.01 - $800.00 =$33.75 | [$800.01 - $900,00 =
$900.01 - $1,000.00 =|$37.50 ssoo .01 - $1,00000 =
$1,000.01 - $1,250,00 = |$46.88 $1,000.01 . - $1 25090 o
$1,250,01 - $1,500.00 =[$56.25 $1,250.00 - = ]$87.00
181,500.01 - $1,750.00 =[$65.63 | [81, emn o1 - = sm £0
$1,750.01 - $2,000.00 = [$75.00 [$1 750 01 - = $11s¢oo
$2,000.09 - $2,500.00 = [$93.75 sz,oon 01 - 32,590 Qo' = |$145.00
§2,500.01 - $3,000.00 = [$112.60 | [$2,500,01 - $3,00000 =
- 193,000,001 - $3,500.00 = {$131.25 .sa,oao 01 - $§,§ﬂo;ob =
+|$3,500.01 - $4,000.00 _=1$150.00 | [$3,500.01 - $4,00000 =
1$4,000.01 - $4,500.00 = $168.75 | $4£uaa 01 - $4,50000 =
$4500.01 - $5,000.00 = [167.50 | [$4,500.01 - $5000.00 =
[$5,000.01 - $7,500.00 =[$281.25 | I$5,00001 - $7,600.00 =]




